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1. The Incorrac! slatament for ransition skemanis s
& the last electron of these alamenis eniers In d-orbdipl
b tha common exidation slale of ikess elaments 5 +3
& ha properies of thess elemants s inermediabe
bafwaan 2- and pblock slamants
4. tha ransillon alemants with amaller atomis radil 1
standium

2, Zinc does nod exhibil varable valency dus to
& pregenca of complots filled g-orbifels
b, irurt par effect
E. prasenca of 45-orbital
d. Mona of e above

4. The metal which is considarnd as transifion medal, s
a, Zing b, cadmium
G, Mmencury d, scandium

4. Tha ground stala alsctronic configuration of neutral
titamium aiom Is
A [Ar]ds P 4p? B [ArlZd s’
c [Afds?plp) d. [Arga®

B, Amonyg the following electronic configurations o
d-orbitals, the electronks configuiation showing the
highest magnatic mamenl is
a. 30* b. ag® c. 3a’ . aa*®

6. Magnetic moment

& inoroases with increasing numbar of Unpared
alactrons

b, ghves indication aboul the mumbs u*_mpmml
elacirond presant in the atam; melecue orion

g. | unit is Bohr WNagneson (BM) A single unpaind
piectran hes 1- 73 BM magnatic momant

d. All of e abova

T. Which of the following compounds will show magmsaic
mamant af 1,72 BM7

a. IS )™ b. [CoCl ]+
e, JOu(NH, ), J™ d. TiCl,

B. Intorsfitial compounds are formed when smal atoms
are rapped inside the crysta lattice of matals. Which
of the follewing are the characteristic properties of
interstitial compownde?

|. They have high malting points in comparison bo pusd

Il. Thay are very hard,

1. They retain metallic 3

W. Thay are chemically very reactve.

& |, lland Iii b0, 01 andg I
. |, Nl snd v d. |, Il and |V

B. The slement with maximun number of coldation
stales in thelr compounds is

a Eu b La e Gd g A
10. When Fe metsl iz rustad, it ig
a. isomersed b. deco
@, mecced d. coddiged
1. Ferric sulphale on heating givas
a 50, and 50 b, S0,
c. 80, d. S
12. Iron is rendared passive by treatment with conc.
8. I'b:‘.l i, r'lz.S{:l.
c. HyPOy . HNO,
13. Which of the following is an impaortant ore of Iron?
g Smalite b. Gamilarita
. Panlalandita d. Haamalita
14. The metal which corrodes readily in moist air, is
a. gok &, silvar
c. Fon dl, nkckel

15. Which one of Ine following lorms of iron can give other
farms of iron?

&, Wrought iron b, Steel
€. Pig iron d. Cast iron

16. The cxidation state of iron in [Fe{H,0) NOF* is
a1 f, 2 g d. 4

17. In weak field kgand, which one of the following cations
has maximum magnetic momant?
a8 Fe™ b. Cu** & NiE" d. Co™

18, In the test for nitrate, the composition of brown ring Is

a. FeS0, - N,O b. Fes0, -NO
£ FaSO,NO, d. Fa(ND, ),
19. Copper can be extracted from
& kupfer nickel b, dolomite
¢. malachite d. galena
20. The calour of light absorbed by an aquecus solution of
Cus0, s
a. orange-red b. blua-green
21. For the lons, Cu™"(3d”) and Cu™(3d™), the cormect
statement is

a Cu® is more stable than Cu”

b. Cu™ i less stable than Cu”

¢, Cu™ and Cu' ions are equally siable

d. stability of Gu* and Cu™" depands on the nature of

copper salts



22, When CuS0, reacts with aqueous KI, the products are
2 Cul, + K,50, b. Cu+ K;80, + 13
€. Cul, + K 50, d. Cugl; + K50, + I

23. Which of the following is formed, when copper (Il
suiphate is treated with axC85S ammonia?
a A black precipitate
¢ A doa s soion
G 1]
d imlmlpm jurning black

24. When copper nitrate s strongly heated, the compound
obtained |5

a. copper nitrite b. copper

€. copper nitride d. copper oxide
&5, Hair dye contains :

a. copper nitrate b. gold chioride

€. silver nitrale d. lead nitrate

26. Which of the following ions will finally give a biack
precipitate with Ag' fon?
a. 508 b. Br
¢ Croé d. 5,08

27. In the cyanide extraction process of silver from
argentite ore, the oxidising and reducing agent used

respectively are
8. 0, and CO b. O, and Zn dust
€. HNG, and Zn dhust d. HNO, and CO
28. Tumball's blua is a compound, called
4. lemricyanide b. ferrous ferrocyanide
¢. lerrous cyanide d. fem ferrocyanide
29. Calomel (Hg,Cl,) on reaction with ammonium
hydroxide gives
a. HgO b. Hg,O

e NH, —Hg—Hg—C!  d. HgNH,CI

30, Nitriding is the process of surface hardening steel by
treating it in an atmosphere of
a. NH; b Oy
€. M d H3
1. Potassium dichromate is used
a. In leather Industry
b. as an oxidant for the preparation of many azo
compounds
c. Bath {a) and (b)
d. Mone of the above

32, The structures of chromate and dichromale lons are
A and B respectively, Here, 4 and B refer to
g. A - tetrahecral, B- octahedral
b. A-tetrahedral, 5 - two 18rahadral
c. A-ocahedral, B- two tetrahedral
d. A -two ectahadeal, B - octahadral

33. Consider the following statements.
|. Sodiumn dichromate is less soluble than potassium
dichromata.
II. Crystals of potassium dichromate are of crange colour,
Ill. The chromates and dichromates are interconverible
1 agueous solubon dapending upon pH of the solution.
IV. The oxidation stales of chromate and dichromate are

different,
The corract statements are
a | il and IV b. Il and IV
c. land Il d. land Il

34, The photographic industry redles on the special
ight-sensitive properties of ...I... Here, | relers fo
a. AgCl b. AgBr

¢. PdCl, d. sither (a) or (&)

J5. What happens when FeS0, solution reacts with
acidified KMnO, solution?
a. Iron {ll} is oxidised
c. Iron {Il} is recuced

b. KMnQ, is oxidised
d. Iron (1) is raduced



